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QUESTION 1

What are three characteristics of B-Series (Brocade) Fabric Manager? (Choose three.)
A. multiple switch management

B. single switch management

C. is embedded in the Brocade switch firmware

D. provides in-band management

E. is a separate software package

F. provides out-of-band management

Correct Answer: AEF

QUESTION 2

A business continuity strategy for the protection of data can be built on techniques and procedures to . (Choose
two.)

A. avoid data loss

B. recover data that has been lost

C. shrink the backup and recovery window

D. provide Hierarchical Storage Management (HSM)

Correct Answer:. AB

QUESTION 3

Knowing very little about a customer and their environment, you are asked to propose a large SAN solution. What three
recommendations should you make? (Choose three.)

A. manage all LUN masking at the switch-level

B. use only core or director switches

C. create a SAN design which is a subset of a larger design
D. use core plus edge switch topology

E. use multiple independent fabrics

F. never mix 1Gbps switches with 2 Gbps switches

Correct Answer: CDE
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QUESTION 4

iIFCP is a protocol that translates __

A. Fibre Channel protocol into IP protocol

B. ATM protocol intoFibre Channel protocol
C. Fibre Channel protocol into SCSI protocol
D. SCSI protocol intoFibre Channel protocol

Correct Answer: A

QUESTION 5

iSCSI is best used for . (Choose two.)

A. minimizing the amount of data transferred over the FCIP link

B. connecting stranded servers to the SAN

C. NAS block services

D. additional controller pairs to effectively use available bandwidth

Correct Answer: BC
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